—_ ()
1. ZREOEBIANEFDORED Bl1) ax?=b ORET
D 2x2=32 ® 5x2%=30
(:28) 10D x cmDIEHRFEDORED 2380% 2cm, x?=16 S @02TH3 x2=6 . BD5THB
HODE domiBIE LT & FICTE BRI T, x =t {16 -xE160TE x= /6 - xBEOTSE
=+ 4
RDZNZNICONT, ESEOIDIOESE *
KODORAZDOIDEZE, <HRE 1 ?ﬂz@ﬁ*%ﬁ’iﬁ@%&é’b\o 2
D EFRFOBOESN 24cmlCEoEE= @ 2x*=18 @ 5x*=35
@ EBFEOBEN 8 ICHE>IZEE
RAOEOMODRSIE (x +4)em, EORSE (x +2)emEZDIN 5, ® 2x2=72 @ 9 x2=27
@D EAFEOBRAODOEEE., 2 {(x+4)+(x+2))ERSIND,
Ko7, 2{(x+4)+(x+2))=24 - —RBEN
_ \ B (Bl2) ax?—b=0 ODBRET
CNEBNT 2(2x+6)=24 M 2x%2—16=0 @ 9x2-5=0
4 x+ 12= 24 2 x2=1 6 9 x2%=5
4 x =12 x?=38
x =3 DODRE 3 cm x=+48 ... xESOEHE X2—%
@ ERAEOBREMR. (x+4)(x+2)=x°+6 x+8LKEIND, x=t 242 x =+ ‘/3—5 ...X,J%(Dmmﬁ

Lo T, x*+6 x+8=80 e x POENHD

<REZ2>RDDBAZEIEN,
D 2x?-36=0 @ 9x°—-2=0 @ 2x?-24=0 @ 5x2—9=0

x* (2%) OBEADHIPDEADREINZMWRLEID ! |

wRIEBEBUCTEEIDE, (xDIRIA) =0&ENDHICEDIPDRENZ.

x [CDLTD WD,
—f2IC, a x’+ b x + c¢ = O TXREND,

WZRIENICHTRITDINFDNEZ., ZDHEAD EL, <{EgB3>1, 2, 3, 4MDH, x>~ 5x+6=0DBTHDENEZNNFTE),
RaINTRHDIZCZE, sV D,

(B x?—5x+6=0 2x2—50=0 x?—8x=0




